SAP ABAP table TXI T059Z {Withholding tax code (enhanced functions)}
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TOO0O
MANDT [CLNT (3)]

TOOS5

MANDT [CLNT (3)]
LAND1 [CHAR (3)]

TOO5P
MANDT [CLNT (3)]
LANDI [CHAR (3)]
BLAND [CHAR (3)]
EPRCD [CHAR (3)]

TOO5S
MANDT [CLNT (3)]
LAND1 [CHAR (3)]
BLAND [CHAR (3)]

TO59E
MANDT [CLNT (3)]
LANDI1 [CHAR (3)]
QEKAR [CHAR (4)]

TO590

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WT_QSCOD [CHAR (4)]

-

TO59P
MANDT [CLNT (3)]
LANDI1 [CHAR (3)]
WITHT [CHAR (2)]

T059Z_WITHCD?2

—_—
—_——

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHCD2 [CHAR (16)]




